201-NYA-05 - Calculus 1
WORKSHEET: INTEGRALS

Evaluate the following indefinite integrals:
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Solve the differential equation subject to the given conditions:

43. f'(x) =122% — 6z + 1 f(1)=>5

44. f'(z)=92* +z -8 f(=1)=1

45. @:4$1/2 y=21 whenz =14
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Evaluate the following definite integrals:
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Indefinite integrals:

ANSWERS
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Differential equations:
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f(z) =3z + 3 8x 5
8z3/2 1
45. = - =
y(a) = —5— — 3
Definite integrals:
1 —27
46. 1 4. — 2. —— .
6 5 5 6 50 70. 0
47. 15 55. —2 63 1523 71. 2
48. fg 56. 2 20 72. ¢
49, 27 57. 0 2 )
2 58 4 65. 4 4. e”+11
50. — 0 | 66 2 L
™
1 67. — -1
51. % 60. fl% 4 76. e—e
2 77. sin(2e) — sin(e) — In(2)
3 T M
53. 0 69. 3 1



